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Price name : pm ( x ) = p > 0

parameter = fixed price

Model solution w/ fired price
Need to find tightness x

,
which is given by :
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Rewrite tightness equation : 1×121=0
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•
✗ ( n) is continuous

Intermediate value km ! there is x such that
an/ = 0 → our model has ( at least/ one
solution .

• deal is thickly decreasing I -4×1 is strictly

increasing ,
E > 1 , ft) is strictly increasing )

→ a swill that six , = 0 is unique →
our model solution is unique .

→
model has always unique solution
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Another representation :
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